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Solve the equation.
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Show that the equation is an identity.

49x2-25

13. =7x+5
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For what value of ¢ is the number a a solution of the equation?

15. 3x—2+6c=2c-5x+1; a=4
Hrh)-2 stoe =2-5( )+
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10 16e = 2817
e = -29

The formula occurs in the indicated application. Solve for the specified variable.

16. C=2nur forr. 17. R:IKforI. 18. A=P +Prtforr.
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Choose the equation that best describes the table of data. (Hint: Make assig
table of their values.)

ents to Y;-Y; and examine a

19.

% Y @ y=-1.2x+2

1 0.8 (2) y=-1.2¢%+2
(3) y=08Vx

2 -0.4 (4) y=x"-02

3 -1.6

a4 2.8




